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NT2 -2-2-2-3 RO
3.2
IW-001YD
MPa mm mm MPa
1 AOO AO01 0.9 38 114.3 6.0 STPT410
A02 A33F A35 A37
2 0.9 38 139.8 6.6 STPT410
A38 A45
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N/mm

N mm/rad

AO3

AO7
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Ad4
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3.3

NT2

-2-2-2-3 RO

MPa

STPT410

38

245

410
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NT2

3.4

-2-2-2-1

%

IW-001YD

EL. 8.0 m

EL. -9.0 m
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14’

4.1

IW-001YD

NT2

-2-2-2-3 RO

1 0.040




=1

NT2 -2-2-2-3 RO
4.2
4.2.1
MPa MPa
2

0.9

A38 27 369

IW-001YD
A38 32 490




a1

NT2 -2-2-2-3 RO
4.2.2
kN kN
kN kN m
MPa MPa
IW-009RES SS400 40 6.2 2.2 30 279




LT

4.2.3

NT2

-2-2-2-3 RO

><9.8 m/s?

><9.8 m/s?

MPa




8T

NT2 -2-2-2-3 ROE
4.2.4
No
[MPa] [MPa] [MPa] [MPa]
1 IW-001YD A38 27 369 13.66 A38 32 490 15.31
2 1W-002YD A38 27 369 13.66 A38 32 490 15.31
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